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MTH 221, Lincar Algebra, Summer 2024, 14

Exam II
Ayman Badawi
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(ii) (Show the work, 3 points) Find the solution setto A [er = [2]
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QUESTION 2. (Show the work, 6 points) Given A is 4 x 4 such that
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QUESTION 4. (Show
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(Show the work, 6 points) The augmented matrix of a system of linear equations is
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a) For what values of a, b, ¢ will the system have exactly one solution (one vector only)? [
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b) For what values of a, b, ¢ will the system have infinitely many solutions?
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QUESTION 5. (Show the work, 6 points) Let A= (0 4 0] Find all eigenvalues of A and all eigenspaces of
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(iv) Consider the following system | b, b, by| |z2| = [by + by |, where |b, b, by|=0. Then
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(a) The system has no solutions the system has infinitely many solutions and (0, 1, 1) is a solution.
(c) (0, 1, 1) is the only solution for the system. (d) give us a break, the question makes no sense at all.
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